<0,60m

v

>EN 1176
>CPSC

Description MA ltem Number Qty {Z} 2h

3706x100x50 mm 8020032 1 .

367 x 441 x 170 mm 8020246 1 ‘? Ever ok |

500x441x235 mm 8020257 2 =

1765x68x190 mm 8020262 1 %| :E’d'ry“‘g

3890x68x190 mm 8020264 1 Ghaque saison

MVBF M10x80 mm 304662 16

CAP 10, @17x14,5 mm 8005961 (261812) 16 @ >

Cover 10, @25x12mm 8005963 (261814) 16

@10,5x34x4 mm 261815 32 HAGS Yisloyszo-
@11x24x2 mm 326018 16 Vv hags.com
M6S M12x130 mm 302273 6 Sea-swell

M6M-8 M10 8008796 16 593 5510M

M12x80 mm 303001 6 1 ( 4)

Lock Nut M12 8008797 6 MN|SE>[0G [ 2014-02-13 [1




NR. |Description MA Iltem Number QTY HAGS Egiegéssgggam
1 [3706x100x50 mm 8020032 1 wiw.hags.com
2 |367 x 441 x 170 mm 8020246 1 Sea-swell
3 |500x441x235 mm 8020257 2 593 5510M
4 |M6S M12x130 mm 302273 5 2(4)

5 |Lock Nut M12 8008797 6 MN[S2>[0G | 2014-02-13 |1




NR. |Description MA Item Number QTY
1 |3890x68x190 mm 8020264 1
2 |MVBF M10x80 mm 304662 8
3 |910,5x34x4 mm 261815 16 I I q GS ﬂ%ggis%EDEN
47300
(261812) S i
5 |@11x24x2 mm 326018 8 ea-swe
6 |Cover 10, @25x12mm f206015891643; 8 593 5510M
11 |M6M-8 M10 8008796 10 3(4)
12 |Lock Nut M12 8008797 6 MN[S2>[0G | 2014-02-13 |1




>C20/25

NR. |Description MA Item Number QTY
1 |1765x68x190 mm 8020262 1
2 |MVBF M10x80 mm 304662 8
3 |@10,5x34x4 mm 261815 16
4 |CAP 10, @17x14,5 mm o) 8
5 |@11x24x2 mm 326018 8 HAGS 3§§§§33§¥5DEN
6 |Lock Nut M12 8008797 8 www-hags.com
7 |cover 10, @25x12mm 800963 8 Sea-swell
8 |[M6M-8 M10 8008796 1 593 5510M
9 |M6S M12x130 mm 302273 1 4 (4)
10 [M12x80 mm 303001 6 MN|Q2>|0G | 2014-02-13 |1




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 7)
	Drawing View6
	Detail View D (1 : 10)
	Detail View E (1 : 10)

	Sheet3
	Drawing View12
	Detail View F (1 : 5)

	Sheet4
	Drawing View14
	Drawing View15
	Detail View G (1 : 10)
	Drawing View17
	Detail View I (1 : 8)
	Detail View J (1 : 7)
	Detail View M (1 : 7)
	Detail View N (1 : 7)


